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Ques 1- Find the difference of median and mode for given data

दिए गए आँकड़ों के दिए मादयिका और बहुिक के बीच का अंतर ज्ञात कीदिए

1, 1.1, 2.1, 3.1, 1, 2, 3.3, 4, 5, 2.4, 6.

a) 1

b) 1.4

c) 2

d) 2.4
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Ques 2- What is the value of x if the mean of 21, 26, 49 and x is 32? 

x का मान क्िा ह,ै िदि 21, 26, 49 और x का मायि 32 ह?ै

a) 30

b) 36

c) 32

d) 34
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Ques 3- Mode of the observations 

अविोकन का बहुिक दकतना होगा

10, 11, 16, 17, 12, 13, 17, 16, 16, 12, 16, 10, 15, 16, 10 is

a) 13

b) 15

c) 16

d) None of the above
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Ques 4- The mean of six observation is 8. If each observation is multiplied by 3, then new 

mean becomes

छह अविोकनों का मायि 8 ह.ै िदि प्रत्िेक अविोकन को 3 से गणुा दकिा िाता ह,ै तो निा मायि बन िाता ह।ै

a) 11

b) 8

c) 48

d) 24



TARGET MATHS- 25/25

Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level

Ques 5- By what minimum digit should 4320 be multiplied to make it a perfect cube?

4320 को पणूण घन बनाने के दिए दकस न्िनूतम संख्िा से गणुा करना चादहए?

a) 10

b) 20

c) 30

d) 50



TARGET MATHS- 25/25

Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level

Ques 6- The sum of the perfect squares between 82 and 172 is:

82 और 172 के बीच पणूण वगों का िोगफि ह:ै

a) 365

b) 615

c) 534

d) 254
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Ques 7- Find the unit digit of expression 

व्िंिक  का इकाई अंक ज्ञात कीदिए।

11927 × 11840.

a) 4

b) 6

c) 9

d) 2
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Ques 8- Price of 17 lemon, 19 oranges and 23 banana are 786 and 51 lemon 57 oranges and 

70 banana are 2428. What is the price of 1 banana?

17 नींब,ू 19 संतरे और 23 केिे का मलू्ि 786 और 51 नींब ू57 संतरे और 70 केिे का मलू्ि 2428 ह।ै 1 केिे का 

मलू्ि क्िा ह?ै

a) 80

b) 70

c) 67

d) 75
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Ques 9- If x = 2 + 21/2, then what is the value of x2 + 
4

𝑋2 ?

िदि x = 2 + 21/2 ह,ै तो x2 + 
4

𝑋2 का मान क् िा ह?ै

a) 16

b) 12

c) 10

d) 24
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Ques 10- If x -
1

𝑋
= 3 then find x3 -

1

𝑋3 = ?

a) 36

b) 27

c) 64

d) 48
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Ques 11- What is the value of k such that number of 72k460k is divisible by 6?

k का मान क्िा होगा दक 72k460k की संख्िा 6 से दवभाज्ि हो?

a) 4

b) 7

c) 8

d) 9
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Ques 12- If price of tickets of zoo is decreased by 20%, then the no. of visitors of zoo 

increases by 25%. Then find % change in income of zoo ?

दकसी दचदड़िाघर के दिकि की कीमत 20 % से कम की िाती ह,ै तो वह आने वािे िोगो में  25 % की बढ़ोतरी 

हो िाती ह ैतो  दचदड़िाघर की आि में क्िा बििाव होगा ?

a) 16%                 

b) No change 

c) 12% 

d) 5% 



TARGET MATHS- 25/25

Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level

Ques 13- In an examination 35% is passing marks. One candidate get 135 marks and failed 

by 40 marks. Find the maximum marks for the exam?

एक परीक्षा में 35 % उत्तीणण अंक ह ै, एक दवद्यार्थी 135 अंक प्राप्त करता ह ैऔर 40 अंको से फेि हो िाता ह ैतो 

परीक्षा के अधदकतम अंक ज्ञात करो ? 

a) 450   

b) 550             

c) 500           

d) 400 
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Ques 14- If price of apple is decreased by 20% then a man enable to purchase 16 apples 

more for 320rs. Find the reduced rate of 10 apples ?

सेबो की कीमत में 20 % की कमी होने से कोई व्िदि 320 रुपिों में 16 सेब अदधक खरीि पाता ह,ै तो कमी के 

बाि 10 सेबो की कीमत क्िा होगी ? 

a) 48            

b) 44             

c) 40            

d) 36 
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Ques 15- Pranav and Praveen started a business with capitals of Rs 60000/- and Rs 96000/-

respectively. Pranav took a salary of Rs 1500/- per month from the profit, as he ran the 

business. They carried a profit of Rs 44000/- at the end of the years. What is the share of 

Praveen in the profit? 

उिा : प्रणव और प्रवीण ने क्रमशः 60000/ - और  96000 /- दनवेश कर एक व्िापार आरम्भ दकिा प्रणव ने िाभ 

से 1500 रुपिे प्रदत माह का वेतन दििा, क्िोंदक वह व्िवसाि चिा रहा र्था । उन्होंने वर्ण के अंत में 44000 रुपिे 

का िाभ उठािा । िाभ में प्रवीण का दहस्सा क्िा ह ै?

a) 10000        

b) 16000      

c) 18000     

d) 24000 
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Ques 16- An equilateral triangle is formed inside a circle of area 144π 

cm2 whose vertices lie on circumference of circle. Find the perimeter of 
triangle. (in cm²)
144π सेमी2 के्षत्रफि वािे एक वतृ्त के अंिर एक समबाहु दत्रभिु बनता ह ैदिसके शीर्ण वतृ्त की पररदध पर दस्र्थत

होते हैं। दत्रभिु का पररमाप ज्ञात कीदिए। (सेमी² में)

a) 24√3      

b) 36 √3         

c) 60 √2        

d) 36 √2 
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Ques 17- What would be the cost of laying a carpet on a floor which has its length and 

breadth in the ratio of 23: 12 and its perimeter 210 feet, if the cost per square feet of laying 

carpet is Rs. 4.50? 

एक फशण पर एक कािीन दबछाने की िागत क्िा होगी, दिसकी िंबाई और चौड़ाई 23:12 के अनपुात में है

और इसकी पररदध 210 फीि ह,ै िदि कािीन दबछाने की प्रदत वगण फुि िागत 4.50 रुपिे ह?ै

a) 12178 

b) 11178

c) 10178

d) 14728 
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Ques 18- A vendor sells a coconut at Rs 24 and suffers 24% loss. If he wants to make 14% 

profit, then at what price (in Rs) should he sell?

उिा:- एक दवके्रता नाररिि को 24 रुपिे पर बेचता है तों 24% की हादन होती ह।ै िदि वह 14% िाभ

प्राप्त करना चाहता ह,ै तो उसे दकस कीमत पर (रुपिे में) बेचना चादहए?

a) 32

b) 30

c) 36

d) 48
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Ques 19- A digital dairy is sold an article for Rs. 935 at a profit of 10%. What would have 

been the actual profit or loss on it , if it had been sold for Rs. 810?

प्र : एक दिदििि िेिरी एक वस्तु को 935 रुपिे में 10% के िाभ पर बेचती ह।ै इस पर वास्तदवक िाभ

िा हादन क्िा होगा, िदि इसे 810 रुपिे में बेचा िाता ? 

a) 35profit

b) 35 loss   

c) 40 profit         

d) 40 loss 
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Ques 20- A person sold a article at a loss of 10%. Had he bought it for 20% less and sold it 

for Rs. 176 more, he would have made a profit of 40%. The cost price of the article was-

उिा:- एक व्िदि ने 10% की हादन पर एक वस्तु बेचा। िदि उसने इसे 20% कम में खरीिता और इसे

176 रुपिे अदधक में बेचता ।तो उसे 40% का िाभ होगा। तो वस्तु की िागत मलू्ि क्िा र्था ?

a) 800

b) 600   

c) 650         

d) 750 
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Ques 21- Find the value of (मान ज्ञात कीदििे )

tan35° cot40° tan45° cot50° tan55°.

a) 1

b) 1/2 

c) 1/√2

d) -1
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Ques 22- Find the value of (मान ज्ञात कीदििे )

sin260° + cos230° - sin245° - 3sin290°

a) 1

b) 1/4 

c) 1/3

d) -2
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Ques 23- If Sec θ = 25/24, then what is the value of Sin θ?

िदि Sec θ = 25/24 ह,ै तो Sin θ का मान क्िा ह?ै

a) 24/25

b) 7/25

c) 24/7

d) 25/7
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